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1. If Michael attends college, it will take her four years, during which time she will earn no income. She will pay
$50,000 for tuition, $12,000 for room and board, and $5,000 for books. If she spends the four years working rather
than attending college, she will pay $18,000 for room and board, pay no intuition, and buy no books. Based on this
information, Faith’s economic cost of attending college would be $67,000 if, over the four years, she could earn

a. $12,000 instead of attending college.
b. $14,000 instead of attending college.
c. $16,000 instead of attending college.

d. $18,000 instead of attending college.
2. Suppose that a worker in Cornland can grow either 40 bushels of corn or 10 bushels of oats per year, and a worker
in Oatland can grow either 20 bushels of corn or 5 bushels of oats per year. There are 20 workers in Cornland and
20 workers in Qatland. Which of the following statements is true?
a.Both countries could gain from trade with each other.
b.Neither country could gain from trade with each other because Cornland has an
absolute advantage in both goods.

c.Neither country could gain from trade with each other because neither one has a
comparative advantage.

d.Oatland could gain from trade between the two countries, but Cornland definitively
would lose.

3. A drug interdiction program that successfully reduces the supply of illegal drugs in the United States likely will
a. raise the price, reduce the quantity, decrease total revenues, and decrease crime.

b. lower the price, increase the quantity, increase total revenues, and increase
crime.
c. raise the price, increase the quantity, decrease total revenues, and increase crime.
d. raise the price, reduce the quantity, increase total revenues, and increase crime.

4. Suppose sellers of perfume are required to send $1.00 to the government for every bottle of perfume they sell.
Further, suppose this tax causes the price paid by buyers of perfume to rise by $0.60 per bottle. Which of the
following statements is correct?

a. The effective price received by sellers is $0.40 per bottle less than it was before the
tax.

b. Sixty percent of the burden of the tax falls on sellers.

c. This tax causes the demand curve for perfume to shift downward by $1.00 at each
quantity of perfume.

d. All of the above are correct.

5. Suppose that the equilibrium price in the market for tomatoes is $3 per pound. If a law reduced the maximum legal
price for tomatoes to $2 per pound,
a.any possible increase in consumer surplus would be larger than the loss of producer
surplus.
b.any possible increase in consumer surplus would be smaller than the loss of producer
surplus.
c. the resulting increase in producer surplus would be larger than any possible loss of
consumer surplus.
d.the resulting increase in producer surplus would be smaller than any possible loss of
consumer surplus.
6. In which of the following cases is it most likely that an increase in the size of a tax will decrease tax revenue?
a. The price elasticity of demand is small, and the price elasticity of supply is large.

b. The price elasticity of demand is large, and the price elasticity of supply is small.
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c. The price elasticity of demand and the price elasticity of supply are both small.
d. The price elasticity of demand and the price elasticity of supply are both large.

7. Chile is an importer of computer chips, taking the world price of $12 per chip as given. Suppose Chile imposes a $7
tariff on chips. Which of the following outcomes is possible?

a.The price of chips in Chile increases to $19; the quantity of Chilean-produced chips
decreases; and the quantity of chips imported by Chile decreases.

b.The price of chips in Chile increases to $16, the quantity of Chilean-produced chips
increases; and the quantity of chips imported by Chile decreases.

c.The price of chips in Chile increases to $19; the quantity of Chilean-produced chips
increases; and the quantity of chips imported by Chile decreases.

d.The price of chips in Chile increases to $16; the quantity of Chilean-produced chips
increases; and the quantity of chips imported by Chile does not change.

8. Wally owns a dog whose barking annoys Wally's neighbor, Corrine. Suppose that the benefit of owning the dog is
worth $700 to Wally and that Corrine bears a cost of $500 from the barking. Assuming Wally has the legal right to
keep the dog, a possible private solution to this problem is that

a. Wally pays Corrine $600 for her inconvenience.
b. Corrine pays Wally $400 to give the dog to his parents who live on an isolated farm.
c. Corrine pays Wally $550 to give the dog to his parents who live on an isolated farm.

d. The current situation is efficient.
9. Which of the following statements is correct?
a. Environmental degradation is an example of a free rider problem..

b. The division between public goods and common resources is clear-cut.
¢. Some goods, such as lighthouses, may be either private or public goods.
d. The free-rider problem prevents governments from supplying public goods.

10. Suppose Luke values a scoop of Italian gelato at $4. Leia values a scoop of Italian gelato at $6. The pre-tax price of
a scoop of Italian gelato is $2. The government imposes a “fat tax” of $3 on each scoop of Italian gelato, and the
price rises to $5. The deadweight loss from the tax is

a. $4, and the deadweight loss comes from both Luke and Leia.
b. $4, and the deadweight loss comes only from Luke because he does not buy gelato after the tax.
c. $2, and the deadweight loss comes from both Luke and Leia.

d. $2, and the deadweight loss comes only from Luke because he does not buy gelato after the tax.
11.When a firm is experiencing diseconomies of scale, long-run
a. average total cost is minimized.

b. average total cost is greater than long-run marginal
cost.

c. average total cost is less than long-run marginal cost.
d. marginal cost is minimized.

Scenario 1
Assume a certain firm in a competitive market is producing Q = 1,000 units of output. At Q = 1,000, the firm's
marginal cost equals $15 and its average total cost equals $11. The firm sells its output for $12 per unit.

12. Refer to Scenario 1. At Q = 999, the firm's total costs equal
a. $10,985.
b. $10,990.
e. $10,995.
d. $10,999.
13. Refer to Scenario 1. At Q =999, the firm's profits equal
a. $993.
b. $997.
c. $1,003.
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Scenario 2
Vincent operates a scenic tour business in Boston. He has one bus which can fit 50 people per tour and each tour lasts 2
hours. His total cost of operating one tour is fixed at $450. Vincent’s cost is not reduced if he runs a tour with a partially
full bus. While his cost is the same for all tours, Vincent charges each passenger his/her willingness to pay: adults $18
er trip, children $10 per trip, and senior citizens $12 per trip. At those rates, on a typical day Vincent’s demand is:

Passenger Type illingness to Pay Demand per day
Adults $18 70
Children $10 25
Senior Citizens $12 55

Assume that Vincent’s customers are always available for the tour; therefore, he can fill his bus for each tour as
long as there is sufficient total demand for the day.

14. Refer to Scenario 2. What is Vincent’s total revenue on a typical day?

a. $1,500

b. $1,800

c. $2,170

d. $2,700
15. Refer to Scenario 2. What is Vincent’s profit on a typical day?

a. $660

b. $820

c. $1,350

d. $2,170
16. Refer to Scenario 2. Vincent is considering changing his pricing strategy. Which of the following options results in
the highest profit per day?

a. Charge a single price of $10 to all passengers.

b. Charge a single price of $12 to all passengers.

c. Charge a single price of $18 to all passengers.

d. Continue charging each buyer his/her willingness to pay.
17. Juan Pablo and Zak are competitors in a local market, Each is trying to decide if it is better to advertise on TV, on
radio, or not at all. If they both advertise on TV, each will earn a profit of $8,000. If they both advertise on radio, each
will earn a profit of $14,000. If neither advertises at all, each will earn a profit of $20,000. If one advertises on TV and
other advertises on radio, then the one advertising on TV will earn $12,000 and the other will earn $10,000. If one
advertises on TV and the other does not advertise, then the one advertising on TV will earn $22,000 and the other will

earn $4,000. If one advertises on radio and the other does not advertise, then the one advertising on radio will earn
$24,000 and the other will earn $8,000. If both follow their dominant strategy, then Juan Pablo will

a. advertise on TV and earn $8,000.
b. advertise on radio and earn
$14,000.
c. advertise on TV and earn $22,000.
d. not advertise and earn $20,000.
18. Assume the market for candles is competitive. A new invention leads to labor-augmenting technological progress in
the production of candles. This development
a. decreases the demand for workers who make candles and decreases their equilibrium
wage.
b. increases the demand for workers who make candles and increases their equilibrium
wage.
c. increases the supply of workers who make candles and decreases their equilibrium
wage.
d. increases the supply of workers who make candles and increases their equilibrium
wage.
Table 1
Percentage of Before-Tax Income Received by Families in Hapland
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Percentage of Percentage of

Group .Family Income Family Income
in 2000 in 1950

Top Fifth 50.7 45.9

Fourth Fifth 26.9 25.8

Middle Fifth 12.1 13.6

Second Fifth 6.2 7.2

Bottom Fifth 4.1 5.5

19. Refer to Table 1. According to the table, from 1950 to 2000, the Hapland income distribution became
a. less equal.
b. more equal.
c. more equal at the lowest level of income but less equal at highest level of income.
d. less equal at the lowest level of income but more equal at highest level of income.

Figure 1

20. Refer to Figure 1. When the price of X is $6, the price of Y is $24, and income is $48, Paul’s optimal choice is
point C. Then the price of Y decreases to $8. Paul’s new optimal choice is point

a. A.

b.B.

c. D.

d.E.
21. Refer to Figure 1. When the price of X is $6, the price of Y is $24, and income is $48, Paul’s optimal choice is
point C. Then the price of Y decreases to $6. Paul’s new optimal choice is point

a. A.
b..B.
c. D.
d. E.
22. During the 2008 financial crisis velocity decreased. This means that the rate at which money changed hands
a. decreased. Other things the same, a decrease in velocity decreases the price level.
b. decreased. Other things the same, a decrease in velocity increases the price level.
c. increased. Other things the same, an increase in velocity decreases the price level.
d. increased. Other things the same, an increase in velocity increases the price level.
23. If purchasing-power parity between France and the U.S. holds, but then U.S. prices rise,
a.the real exchange rate is above its purchasing-power parity value. An increase in the
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nominal exchange rate can move it back.

b.the real exchange rate is above its purchasing-power parity value. A decrease in the
nominal exchange rate can move it back.

c.the real exchange rate is below its purchasing-power parity value. An increase in the
nominal exchange rate can move it back.

d.the real exchange rate is below its purchasing-power parity value. A decrease in the
nominal exchange rate can move it back.

24, Which of the following contains a list only of things that decrease when the budget deficit of the U.S. increases?
a. U.S. net exports, U.S. domestic investment, U.S. net capital outflow

b. U.S. supply of loanable funds, U.S. interest rates, U.S. domestic
investment

c. U.S. imports, U.S. interest rates, the real exchange rate of the dollar
d. None of the above is correct.

25. Which of the following is most likely to result if foreigners decide to withdraw the funds that they have loaned to
the United States?

a. U.S. net exports will fall

b. U.S. net capital outflow will rise
c. U.S. domestic investment will rise
d. the dollar will appreciate

26. Suppose the economy is in long-run equilibrium. If there is a sharp decline in government purchases combined with
a significant increase in immigration of skilled workers, then in the short run,

a.real GDP will rise and the price level might rise, fall, or stay the same. In the long-run,
real GDP will rise and the price level might rise, fall, or stay the same.

b.the price level will fall, and real GDP might rise, fall, or stay the same. In the long-run,
real GDP and the price level will be unaffected.

c.the price level will rise, and real GDP might rise, fall, or stay the same. In the long run,
real GDP will rise and the price level will fall.

d.the price level will fall, and real GDP might rise, fall, or stay the same. In the long run,
real GDP will rise and the price level will fall.

27. If output is above its natural rate, then according to sticky-wage theory

a.workers and firms will strike bargains for higher wages. This increase in wages shifts
the short-run aggregate supply curve right.

b.workers and firms will strike bargains for higher wages. This increase in wages shifts
the short-run aggregate supply curve left.

c.workers and firms will strike bargains for lower wages. This decrease in wages shifts
the short-run aggregate supply curve right.

d.workers and firms will strike bargains for lower wages. This decrease in wages shifts
the short-run aggregate supply curve left.

28. According to liquidity preference theory, a decrease in money demand for some reason other than a change in the
price level causes

a. the interest rate to fall, so aggregate demand shifts right.
b. the interest rate to fall, so aggregate demand shifts left.

c. the interest rate to rise, so aggregate demand shifts
right.

d. the interest rate to rise, so aggregate demand shifts left.

29. Assume there is a multiplier effect, some crowding out, and no accelerator effect. An increase in government
expenditures changes aggregate demand more,

a. the smaller the MPC and the stronger the influence of income on money demand.

b. the smaller the MPC and the weaker the influence of income on money demand.

c. the larger the MPC and the stronger the influence of income on money demand.

d. the larger the MPC and the weaker the influence of income on money demand.

30. There is an adverse supply shock. In response the Federal Reserve pursues an expansionary monetary policy. Taking
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into account both the shock and the Federal Reserve’s policy, which of the following are we sure of?
a. unemployment will be higher

b. unemployment will be lower
c. inflation will be higher
d. inflation will be lower
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10% 2. Show that every polynomial function is continuous.

(Hint: an application of rules of limits)

10% 3. ﬁ—c(Sx‘/E +4x% + 6x95)

ﬂ_ o L,

10% 4. dx{e sin“(ln x)}

10% 5. The formula for the volume of a sphere is V= i;-nr3, where r is the radius of sphere and
7 is a constant. Show that the derivative of the volume formula is 4nr?, the formula
for the surface area of a sphere. Give an explanation for this in terms of rates of change.

-7 .3 2,435

10% 6. Graph f(x) = P - 7% +?x+8

10% 7. Find and compare the values of df and Af for f(x) = x? at x =l anddx = Ax =0.1.
What are the missing terms resulting the difference between df and Af ? When the
function f{(x) is a distance function, give an explanation for these missing terms.

10% 8. Find the relative extreme values of f(x, y) = 6x? — 8xy + 8y% — 8x + 16y + 8.

10% 9. Minimize f(x, y) = 6xy + 18yz 4+ 24xz subject to the constraint xyz = 1500 .

10% 10. Show that
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